Quiz 7 - Problem References MAC 2311
1. Section 3.9 #41, 44, 45, 46.
2. Section 3.10 #23, 24, 25, 26.
3. Section 3.8 #31 and Webassign HW 7 #29, 30, 36.



MAC 2311 - Period: Name: i l é—
Quiz 7 - Form A
October 20, 2015 Show your work to earn full credit.

1. Find the derivative of f(z) = 2% - Vz* + 2z. (2 points) Tokee M"f\“’k\ h"& "p'bom'.
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2. Given €% = sin(y?) calculate the derivative with respect to x. (2 points)
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3. Determine the value(s) of ¢ for which f{t) = 2.1 —# + sin"'(¢*) has a horizontal tan-
gent line. (2 points)
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MAGC 2311 - Period: Name: K€Y
Quiz 7 - Form B V
October 20, 2015 Show your work to earn full credit.

1. Find the derivative of f(z) = 2% - cos®(z). (2 points) Tako hﬁ.“l’-\ﬂ»\ \Vra . \agtn. &J‘U-
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2. Given e*¥ = cos(y®) calculate the derivative with respect to z. (2 points)
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3. Determine the value(s) of ¢ for which f(t) = 2- V1 —t% — cos™'(#?) has a horizontal tan-
gent line. (2 points)
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MAC 2311 - Period: Name: l 'j
Quiz 7 - Form C
October 20, 2015 Show your work to earn full credit.

1. Find the derivative of f(x R/ (2 points) C\
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2. Given e*¥ = cos(y?) calculate the derivative with respect to z. (2 points)
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3. Determine the value(s) of ¢ for which f(t) = —2-v1—11 — sin™'(¢t*) has a horizontal tan-

gent line. (2 points)
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MAC 2311 - Period: Name: e
Quiz 7 - Form D ~7

October 20, 2015 Show your work to earn full credit.

1. Find the derivative of f(z) = 23 - cos®(z® + 2). (2 points)
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2. Given "™ = sin(y?) calculate the derivative with respect to z. (2 points)
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3. Determine the value(s) of ¢ for which f(f) = —2. v/1 — 1 + cos™(¢*) has a horizontal tan-
gent line. (2 points)
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